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Proofs Rexzons Bank (This witil NOT be provided for you on the test) : Given, Vertical Angles are Congruent, Reflexive.
Property, Def of Angle Biszctor, Def of Midpoint, Alt. Interior Angles = , Triangles congruent (SSS, SAS, HL, ASA, AAS),
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2. (6 steps)

Given: AB||DE, C is the midpoint of AE
D

Statement

) Guen
2) (/&‘E;J 4:57’16{'3 o

?;) /4/76 Iﬂf@f&‘f
/:I/zj? /(Jj =

&) AsA

Reason

NABIIBE | C v
Mrﬁ{/ﬂ%

2)445@ =40k
?;)ZA /£
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3. (4 steps)
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~ Statement Reason
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Given: 5K bisects 2750,
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5. (4 steps) Statement Reason
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Giver: AB =T, 24 = 2C
Prove: BE = DE

6. ( 5 steps) Statement Reason

Given: A = AT and AD bisecis BT
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